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�

�< 52�� .<$X�  
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2  

&� :W^�c� C\J/1  

=� :W<�HN ��:����  

ZN$�F :1  =NBE�d1969  

����� S6S& ��@  ���� ��S6 �������� ��1 �CD � V���� ���( s�B �D�� .
��� �CD ��Gd VK@ ��2� 5%& <v��B 

�� s��M ������( T���J��� � '��Z ���. 1- N� 
=G6� �� ����2�� T�&�  
��� 
��(��M i�� \6  �X� N� $���6�  �	 �� 

l���XG� s�Z 5��D '��� ����� N�� L	  ��M ,�=D $@�� 52� !!faE< ���� 
� ��@  ��6�3D $��1�� /6� 
C	 

'�� ��  ��@  
a�� '����� ����� ��d  
����@ ,�2 ��%D 52� 
� s��M 
���  ��	 ��� L	 $C� �	� .�	 
� ��1 - 

��O6� $=6 N� ���2�� y�K6��< \6�S� /� �� ����X�4��  ������ ���M ���0� �� ��C6� � $��B �G�0	 � �6�� Q�C< �� ��O6� 


�D�� L�D�� � �� �� N� 52� L�	��. 2 - /� ���Y ��C	 
� yAK@ ��~< ���� N� <�f� ^��&$�8�� N� n6�Y 
��� 

�	��B ���� 
� '����-  ��	 '��( $2���  ���N 
� ��- ��O6� 52� ���� �CD ��2�X� �(� '����-  �� ��O6� 
�D�� 

y�C�1 �<  
���1 ���� �CD '���2�� ��� .� �(� L	 �<  
���1 �� �  5��6�� �6��=� �� T��+ V6�C< �����< $� �� ��O6� 

Q�C< �6��P�. 3- uM�� 
� �8I� &$�b� � �8I� �_�� 
�0� (��M�
� �� '��C	 �� dG� �b2 m�?�< ���� �CD 

'���2�� �	��B �D. 4 - �KB 'N�< ���� 
@A& �CD N� ���6� <�f� �8K� <$���� ���0��< ���� )V@��1  \6 ��2 (
� 

�=6��  �G	��B ��  .���� ��	��� $<����J< �6 l6��<. 5 - uM�� 
� ��3GO�- �CD }���� 
� 
��� /�D�� 
� /Ca��  ��	 

M.S.A �� ��	�3D c%��� ���� ���- ���� Q��  ��	 $2���  �����N �GC@A& �6�� o�& LG� 
� ��3GO�- �CD 

$%�B ��3GO�- $��B 52� $4� /6� ����� �� �6�� ]�+ Q�C< $U�D 5D�~( .��d N� �R� 5@� � ��	��� �P6� 

/� y�U�D �� 
��W� L�0	 � ��=�� 
=G6� Q��  x��D� $2���   ���N �GC@A& �� N� M.S.A ���- LG� ���0� L� 

52� .��d $���6� �	 ��6N �� M.S.A ��E� �G�0��  
��R� /� �6�� $E2 L�G� ���2�� ��B �� yAK@ �GC@A& 
� ��	��� 

'��� ����� )V|� ��@  WJ	3�: �c&�� �  (...� �� ��1  �?�1  � 
$%� N� 5�4�E� � ���=C	 �� M.S.A '��G� 

���( '���  ��� '����� 
� ]�Y '��( uCM L�G� � �(� 5@� � ����� ��<��6N L��D�� �� ����� ��P6� Q�C< L6��P�.  

/� �� �Gd 
��� $%K@ \6 
�0� N� 50�4 5>: ^��c J�$�� ;�E��& ���� �CD ����2�� � 
6�R� �CD �� L�2��B 

$%�B 50�4�& 
� T�6�R� ��B �� L6��� ��06�G� 
� '����� �� �  ��|=< L�G� � ���� ���2��  L��2�X� .$�2�� �� �R� 



 ��� ��� 
 

 

L�D�� N� n1 $�6�W& 
� ���2�� ���� '��( $2���  ���N $� �G	� ��- ���� �8I� &$�b� � �8I� �_�� 

�2�X�L 
� y�C���0� T�6�O� �� 
� Q��  �3�  �G�2�X� .�R� �CD �50�d �=� $� ��G� ���d �	 ��D �6�� �N���j� 


� ���� I���� 
�N. ��C���  $��� �D��. 6- uM�� 
� 7 �X� �� 50�4 �� 
� N� ILL �G�0	 '��2�- �6��� /� �E� N� 

A�T�@ $���6� ��	 �aG6� �E� N� �Gd 
0%M /6� �Gd �X� 5K0� 
� M.S.A �GC@A& �� ���- ����� � $�1 SM \6 �X� 

�3�  
� �� T�0%M M.S.A $	�P	�( 5��D $� �G� 
��� 
� /6� �	��� ���� ������ !!�� $<�0%M uM�� 
� M.S.A 

���� $2���  �����N L6���� �6�D �� L�0�2 '�G6  f�<�< �� �  L	�� .T�&AY� ���O�� �� �� /6�  '��� �� ����B� �CD 

L	��B 5D�~(. T��E2 � 5�A2 �CD �� N� �����B ��S� ����2��B. ����@  �CD JC\ .$�2�� �(� �� l���XG� 

s�Z T�C�CU< ��6�M }���� 
� '��( $2���  �����N 
���(  �6� ��� u%b� ���6�C� ��=O�� .N� 
���  �� 
� uM�� 
� 

r�?�� ���6� L6��� '���2�� �6��� ��=O��.   

3  

&� :W^�c� JC\/2  

=� :W<�HN ��:����  

ZN$�F :3/2/1971 

����� $���( ��@  ���� ��S6 /C? o�& �A2 �������� '���C	 n��� � 5�A2 ��D�� .���� VK@ N� 5��1  
�

���6� 
��� �CD ��2� $4� 5+�� ��K� s��M 
��� �� �L06�G� .�1 �� 
2 N�� 52� 
� N� ���6� 
�O(��  �� – 5%& 

\6  '�� �� ���6� L���� � LG��� ���6� 
�  
�53M ��� $��3(�� ���� �� ���6� ���. \6 
6�O� N� ]�Y "'��( 

$2���  ���N" )<�\� D�	K( '��2� ��� 
� $%�B f4�M ��� ./� �D ��& �P6� N� /6� 
6�O� I���1� ���� y�Xb4 

�(� �6��� N�� ��2�� �6���. � 
�R� $� �2� 
� I���1� ��O�� ���� ��- T�6�O� � T.��� c%��� /�� '��( 

$2���  ���N 52� .�������� ������ 
� 0�z�� ���� T���O��� ��G�0	  5�4�E� ���O�� �� T���O��� T.��� �G6�CG�. 

$E@�� 
� �� ���6� ���� 
� L@ 
��� � �� 5z�	 
0�e� �8I�  �_�� � /�GqC	 �$���j�Cb8 J�_�� A�T�@ � 

5KJ+ ���C� . 
��R� '��2� ��� 
� �� l���XG� 
�.�2 M.S.A )
� �� V6��� �K���j2 ���@�� ��D $� (\6 

$6�PG�2 S�� N� ���6� T�&� ��D .5z�	 �e
0� f�=�  �A2� � t�%K�4����  $�A2� ��3h� 
@A& ����C� 
� \6 �X� 
� 


� $0�%P�� S�� i%0< ���� s����� �G6�C� .$� L�2��B �R� �CD �� uM�� 
� /6� '���& ���2 LG� .�6  '��(  $2��� 
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 ���N $� ����< f�<�< T���0� /6� ��� �� N� L@ 
� �� l���XG� 
���4�2 M.S.A 5KJ+ �G� ��	�� ������ )�6�D 

cU� (I���� �X2 /6� ��D �� /� $� L���< �� ���6� 
�3< L6�C� � M.S.A S�� �� /6� ���� \C� $� ��G� 

��GCO	��B �� /6�  '��� �R� �6�B � ����� �P6� 5z�	 �e
0� '��( $2���  ���N �� ��06�G� .uM�� 
� u?� �� �a�  

�� 
��� $%K@  ��< ���2 '��C� �6��� 
=G6� ��� L	 
��� $	�(  ���O�� /�� ���� '����� L�0�2  
���M� '��  52� 

�6�D s�U�&� � 
�0� ��D ��B� '�PO��� �	 � $WE� N� ���2���� �	 
a��� ��C	 $	�(  $� �D�� .�� /C? $�1���� 

 ��	 $&�C�M� � V6�0� �� �  
� LC6S��� '��2�  52� . 
��R� $� �2� '��( ��	 c%��� 
�  5�4�E� �G4�kO� � �� 

/C? ��O�� �C%& � sAY $	�(  $%��� N� r�?�� ����� $4� ��v
��X2 �3G6� ��O�� N� '��( ��	 �P6� 5J<  �R� � 

���G� ���N�2 �G�0	. �� 
C<�B �R�G� s��M  
��� �� ���� f4�b� .�� L�0	. ����@ �CD $%&  

4  

&� :JC\ W^�c�/3  

=� :<�HN W��:����  

ZN$�F :12 �b��BE 1973  

����� 
6�C���( �� s�GM ��@  ���� L�	���� ��S6 �A2 L=�%&. �����B �CD � '�����B ��< �� 5�A2 � n��� 

����� .��6�M ��1 �CD i2�< $6���� 
� T��E2 
K1�U� �� �CD �� 
�D�� ��� '��� �� .��B� �JC\ �f� �Gd 
�X	 

��- �� GW ��6� s�B ����� .�	��B LG� $� o�& �A2 ��� 5��B L��B � 
q� ���6�	 ����2��. �� �aG6� �

����� $G�PGD�� 
C	 H��CJ� �G��B � ��(�&� ��M� 5����- �CD �G�0	 .T�0%M �L	 � 
$��B ���@�� 52� .N� 

�R� $C� � $X�� �� \6 ���E< 56�?� ��� ���@ ����. �@  /� N� 5��� \6 s��� � 
�CD ���=	�� .5 �.� 
� 

52��- $� L�2��- 
q��Gd L� 52� ��6���X� 
� 
��� �� L	 L6��< LG� .L2� /� � ���G& s��� �� $<��+ 
� ��@  

<$B� 
�3< '��� ��� �� 
N��8N� 50	. ����  5C1N �P6� 
=�  \6 ����� ��C%0� � 
��K�� s��� ��	 s�B 

$�A2� � 
���N $0�%P�� �$ ����( � 
x�UB � �@ .i�� ���+� ���� 
� �� f4�@ u�O< �D�� � �6 �(� 50�� ��� 

���� ��+� �����&� /6��3� 
�D�� ��	 $�A2� 
� �< ��1 
�D�� '�D �GD�� �D�� .�	��B $� LG��  
q��Gd $���� � 

�6 � �@ )� 
$0�%P�� ��Z N� c2�6 $%& (�6��� �� ��� 5C�@ ���� /� ���2�X� 
� � 
��O6� L�%0< ��D .� �6 
=�  ��� 



 ��� ��� 
 

 

'�G06�� � ���G& s��� � �6�2 T�&AY� 
Y���� �� L6��� ��@�� ��6���X� 56�3� ��SP2�j2 L	��B ��� .��� N� /6� 

L1�S� $C� ��D .���� �� �A2 ����2�� .���@�U< $%& �k+� '�(    

� �� ���E�D N�C� 
q��Gd y�GC? 
�� ���NP�6��� $0�%���2�X� � ��G� 5KJ� L	 �� �  � .� L6�( $� 
=G6� 
 ���N

52� �  
CM�< ���RG� $0�%P�� .  

5  

&� :JC\ W^�c�/4  

=� :<�HNW  ��:����  

ZN$�F :5 �b��8m� 1975                       

� 
��B ���   ��S6 L�	���� ���� ��@  �GCM�� ����� L=�%& �A2.  �� � ��D�� 52��G< � ,�B 
� 52� ����

��S� �����B ��6v< .52� '��K� ,�B $��D N� �� N� I��B ��PG	 �� �CD ��1 
� ����� rAY� �������. �	 
� 

53M �A� ��� 52� � �� 
C	 �G��N�  $��A2 � $D�B � 5����� �  ����� S6S& L��0	 .��1 L��B ��bd 52� .

V�%B /� 
� 5X( 
� ��- ��O6� $�1���� 
�D�� 52� .�	��B $� LG� o�& �A2 L6�� � ��� 5��B ��O6� 

����2�� ./�GqC	 L6�� 
� �CD �A2 ���2� $� .�� �aG6� ������� � ���	��B $PC	 ����� .LX2v�� 
� 
� l���XG� 

MSA ������ 
� �D $C�. t%K� 30 �.� \d 52��- �� 
q��Gd /=C� 52� – ���� $U�D 
� �� �  �	��B 

'��� 52� �� �� '�� ��B �	 ��Y 
� L�	��B $� I�B L�G�- �SM ��- $6�	 
� ���� 'N�1 
�C%& ca� �� �R� 


���( '�D 52� )�	 $C32 
� S6�M 52� (��RG� �6��� .���0� ��GC� .��� N� /6� L1�S� ��D $C�. y�Xb4 �A2 ��� 


� V�%B � c2�6 � �K+
 ����2�� .���3P���B �6 n1 $%&  

6  

&� :JC\ W^�c�/5  

=� :<�HN W��:����  

ZN$�F :15 =NBE�d 1976  �$>E��I��N�  

��G� ��B    ����� S6S& ��@  ���� ��S6 �A2 L=�%&. �����B �CD �� 5�A2 � ���6 ����� .'�����B � V	� � 

���& �O���H� 
� �G��B .�A2 � T���� ��� 5��B �
C	 x�UB 
� L��B �A�� ��G� .�N�� 
� �CD � '�����B ��< 
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�A2 $� ���2�. �� �aG6� 
C	 ������� � ���	��B H��CJ� �G��B � ��(�&� �CD �G�0	 � L��0	. ����� ���S6S& 

����� ��. �CD �� '����� L�CU< ^&B� �8[*3�� 5K0� � 
u?�� ���( /6� 'N�1 N� n6�Y .Amnesty Intl �� 

V���� /��4�� :��& � ���6� u%b� '��� 52� – 
� ���@ �D /6� ��� ��� rAY� ���� � 
�CD ��� ��O6� ��a�� �	��. � 


5K2�G� T��3D ����3D A��� 'N�1 ��	 �w��6��� ��X4�A�� � /�PGD�� �� ��X4�A�� �� N�� ��&�2�< ��� L	 L6��� 


� 
����� �� ��� � ��M �CD 5�2 $4�B .� 
$��B ��S(�� �D .����� ��C��B <$B�� ��Gd ���- 5KJ+ N� 

T�&� �CD � 
/�PGD�� $� ��� 
� �������� T��+ ���( � ����6� 'N�< L�G�. 
� 52��- \6 \d � 
t%K� 300 

�.� L6��< $� ��D .�	��B $� LG� �  �� 
� 	� $�K0� 
� `A+ $� ����� /�� :��G+ ��	 /6�	�a� )���6� (� 

f�2  ��(�6� ��C%0� �� T���� L�0�< ��G�. ��� N� /6� L1�S� $C� ��D .$�2��G< � ���� ��C&� 
��	��B��B �CD 

�� ����2��B. �6 n1 JC\  

7  

&� :JC\ W^�c�/6 

=� :��:���� W<�HN  

ZN$�F :26  =NBE�d1976  

��B ��G�    L=�%& �A2 ��S6 ���� ��@  $���( ����� . � 5�A2 $PC	 ���& � V	� � ��B 
� 52� ����

��D�� ,�B .$4�2�� 
M� ���� �� ��< 
��� ���� ��GC� .�N�� ���� ��< '�����B � �CD 5��B ������ ��&� � �A2 .

����� �&� � �A2 � �G��B H��CJ� $PC	 �aG6� �� ���	��B � ������� .- 
� 5C0@ N� ��� /6� 
� ���a� 
��� 52��

 N� ���6� 
� }���� T����J<��*2E�8*N� J8�*��  ���@� V6�C< T��+ �� � ��R� ��3h� �rAY� ���� 52� '��2�

��D $� L6��< �� ���� �N. T�&AY� ��2�� �6 � ��<��B ]�Y N� L���0� .�	 N�  �������� ���� L	 $j� \6 
��� ��

JaBK�� &���� �2���D '�� .L��0	 �CD � ��O6� f��M N� �KB ��R��� �� .C	 5��B ��� ��&� � �A2 o�& �A�� 


��6���X� .���6� ���� 
�.  �=O< o�& �� JC\  

Ali A. Agah, 4773 W. Braddock Rd./# 204,  Alexandria, VA. 99311 
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&� :JC\ W^�c�/7 

=� :<�HN W  ��:����  

ZN$�F :22  =N$B�1976  

 ��G���B     L=�%& �A2 ��S6 ���� ��@  �� 
6�C���( �����.  ��- N� ��� �� ��< '�����B � �CD �����B

����� n��� � 5�A2 .����2�� ��< '�����B ����� 
C	 5��B ��� � L6�� �A2 o�& LG� $� �	��B .�N��  �CD 
�

���2� $� �&� � �A2 .� �G��B $PC	 �aG6� �� �P6� ���	��B � ������� �G�0	 ���6�(�&� . �� 
� LX2v�� � '�G��D

 �$B�AI �	 
� 
 ���� ���@� �6�  $Y�K<�� T.�=D� 5%& 
� �  N� ���@ ����)$��=� � $���N (��� ! 52��- 
�


� 
��� 5D����  AI ��@  ���S6S& ����� �^��& ��f 
��� �� ��D $� L6��< rAY� ���� �AI  VC& 
� $E2 �|���1

R� �� 52� '�� �/� �   l�e� ��� 
� 
��� ���G& V=O� 
�MSA ��D V1 .� 
� �� 
q�  
 
��� N� � ��2� $� /� �R�

��� l=EG� 
��� �� LC3X� L�0���< �CD .���� f�<�< �� 
0%M . ������� >	A� W�����)<$B� ( >	A� �

)��& J*o�$ (���� T�&� �� .����� 52��B �~& .��& J*o�$ E� /6� 
C	 
� ��� ���E� 
� }���� ��	 5�4�AI 

�GG=� ��� c%��� '��( �Gd 
=G6� 
� ��D S��C�� �M \6 �� �6�� . ���=< �� �P6�C	 ��� ���O6� �R� 
� ��0� 
d

�D�� �P6� '��( ��� c4��� 
� �G=� ���� $	��( � �GG� - � $�bG� 
� 
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Ms. Katrina Mortimer                                     Ad Hoc Committee of A Group 
Middle East Researcher                                      of Muslims (AHCGM) 

Amnesty International                                        P.O. Box 32272 

International Secretariat                                    Washington, D.C.20007 U.S.A 

53 Theobald’s Road                                             February 22, 1976 

London WCIX 8SP                                              

Dear Ms. Mortimer: 

Thank you for your letter of January 13
th

 and the undated letter of Mr. Butt of Iran 

Researcher Project. We are sorry that due to circumstances we could not write to you earlier. 
First, for the record, we should like to clarify that, as you noticed, the letter of December 19th 

which was sent to you by a group of Muslims who are, of course member of the Muslim 

Students of the United States and Canada (MSA), was not sent by the President of the MSA. 

Rather, it was sent by an ad ho committee formed by the said group. Unfortunately, at the 

present we are unable to give any specific information concerning the individuals arrested in 

Nadjaf or expelled from Iraq by the Iraqi government or concerning those arrested in Iran. 
However, we would like to give you the following address: 

Mr. Sadegh Ghotbzadeh  , 66 rue de Moulin de la Pointe,  Paris 13e , FRANCE 

Tel: 589-5473 

Mr. Ghotbzadeh will be in touch with you and hopefully he will introduce to you some of the 

eminent Muslims and others who are active in Muslim centers in or around London. May we 

extend our appreciation and our hopes for God blessing to all of you in AI who work toward the 

preservation of human rights. 
Sincerely yours, 

  Ad Hoc Committee of A Group , of Muslims (AHCGM)    

$� ��2�� ��S6 ���� ��@  S6S& ����� rAY� ���� 5D���� ���(.  
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Professor Erich Fromm      AHCGM 

180 Riverside Dr.        P.O. Box 32272,  
New York, N.Y. 10024      Washington, D.C. 20007 

Being aware of your interest and effort in supporting the human rights of men and women 

who have been tyrannized by different government and knowing that you are a patron of AI we 

are sending you a copy of our letter to AI, hoping for your direct and personal  intervention in 

this situation. 
         Sincerely yours  
       Ad Hoc Committee of a Group of Muslims (AHCGM) 

 Attachments  
Ms. Katrina Mortimer                 Ad Hoc Committee of A Group of Muslims (AHCGM)

  

Middle East Researcher 

 Amnesty International  P.O.Box 32272 

International Secretariat     Washington, D.C. 20007 

53 Theobald's Road   U.S.A. 

London WCIX 8SP 

    England       
 

Dear Ms. Mortimer: 

Pursuant to our letter of February 22, we should like to inform you about the events which 

took place in Iraq during the last month.  

As you know, Nadjaf and Karbala are among the most respected cities in the world of Islam 

because: 1) the shrines of Imam Ali (first Imam, successor, cousin and son-in-law of Prophet 

Mohammad) and Imam Hussein (the Third Imam, son of Ali and grandson of Prophet 



 ��� ��� 
 

 

Mohammad) are located here, and 2) both cities, especially Nadjaf, are theological centers, 

more than a thousand years old, where numerous Muslim scholars have been educated. 

Throughout the centuries, every year, around the time of the martyrdom of Imam Hussein 

and his 71 companies, groups of Muslims from towns, villages and communities around 

Karbala, travel to these shrines to commemorate the martyrdom of these noble human beings 

who acclaimed the natural freedom of man and who stood up against the murdering tyrants of 

their day.  

An eyewitness reports that this year on February 18, 1976: 

� Iraqi soldiers and armed undercover agents stopped and sent back all the pilgrims who 

had traveled on foot, in some cases for weeks, to be present at commemorative ceremonies for 

these martyrs.  

� The government officials had ordered the water and facilities to be closed at the guest 

houses and inns on the routes leading to karbala. On some of these routes army tanks were 

used to send the people back.  

� As another deterrent to the walkers the government used water to muddy the roads along 

the banks of the Euphrates River. 

� In Nadjaf around sunset soldiers attacked demonstrators who were asking the 

government to allow the pilgrims to enter Karbala and arrested many of them. Soldiers were 

posted at the entrances of Imam Ali's shrine to keep out the pilgrims—consequently, many 

people were arrested. 

� In Kufeh, Muslims who had gone to the Mosque of Ali for prayers were also faced with the 

lack of water. 

� The shrines of Imam Hussein and other shrines of Kabala were closed to the pilgrims. 

Those who were already inside the shrines were faced with the same problem as those at 

Kufeh—that is, no water, and when some of them protested they were immediately arrested by 

the undercover agents posted inside the shrine. (Interestingly enough, about 12 centuries ago, 

Imam Hussein himself and his companions were also faced with lack of water for days when 

they were martyred by the tyrants of their day—Yazdi had ordered his army not to allow Imam 

Hussein or any of his companions to take water from the river!) 

� The customary ceremonies, held for centuries, were stopped in both Nadjaf and Karbala. 

On February 19, 1976: 

� in protest the bazaars of Nadjaf and Karbala closed sown. So there were no food for many 

pilgrims who had already arrived at these cities. 

� The government ordered the inspection of all vehicles and any trucks or cars found 

bringing food to these pilgrims were turned back.  

� A group of young demonstrators started a peaceful protest against the government and 

they were all arrested.  
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� Inside the shrines of Imam Hussein, unbelievable as this may sound, the undercover 

agents arrested any pilgrims who beat their breast or chanted any prayers. 

According to our eyewitness such demoralizing oppression by the Iraqi government does not 

come as a surprise. Because of the unspeakable brutalities of the government of Iraq most 

people live in constant fear and subservience. And those like religious scholars, teachers and 

students who resist such tyranny are forced either to leave Iraq or be imprisoned. Many of such 

protestors have either fled of been exiled, many of which have become homeless, separated 

from their families, jobless, and with no way of returning to Iraq. 

Most of the schools of Nadjaf have been closed down. Appeals by the religious leaders, such 

as Imam Khomeini, to the president of Iraq have been ignored. Rather, in coalition with the 

Iranian government, another 20th century-style tyrant, many steps have been taken against 

these religious centers (please refer to our letter of December 19. 1975) 

Our eyewitness reports that Imam Khomeini has also closed his teaching session in protest. 

One of the obvious actions against these centers by the Iraqi government is to pay as little 

attention as possible to the economic betterment of these communities. Instead, at this 

moment the Iraqi government is building a casino and gambling house outside of Karbala, the 

revenue of which, along with the revenue of oil, buys weapons for the government to use 

against the people! 

In general the basic rights of the people of these cities are not only ignored but exploited. 

We are aware that AI would rather take up the case of individual prisoners of conscience but 

we report the latest information that we have gathered about the situation of religious leaders, 

teachers and students in an oppressed environment in order to familiarize you with the general 

situation in Iraq. 

We wish continuous success to you in your efforts to reclaim human rights where they are 

the being tampered with. 

        Sincerely yours, 

     Ad Hoc Committee of A Group of Muslims (AHCGM) 
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� �� �X� �B  �� o�E� ��	 
��( ������ 
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K1�U� '�D 56�GE� sA��� �� w�� '��=� � 5K0� 
� ���  �  �� �52� ���2 /6� 52� 
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(" …An individual who has achieved this wholeness of consciousness cannot 



 even if he 

should try to 



 break the laws of Being� because his very individuality is now determined by 

the laws which uphold the upholding of the universe� the awakening of consciousness. 



 ��� ��� 
 

 

 )���0�� 
O�C	 � �� 
C	 ���1 5J< '�b�2 /����@ � T���R� �G6��  �$ ��D�� �	 ��@ L	 
� '�(  � ��KB N� 

����@ �G6��  �D�� .N� $��Y �	 
��( cO� � $	�(  $G�K� �� i�� � �i�� 5B�GD /����@ $E�KY 5�%B �52� � 

���� :�X< � ne�� ���  �� �	 '�6�- � ����� �$E�KY ��0�� ��Ka� 
� ����- N� ��C	 /����@ � ��R� $E�KY 52� .�(� 

/6� 
4v0� �� ��B '�G06�� S�� )nKY V�� ��@ :�� (/D�� �52� �6  �4��2 V��@ `�Y �50	 �y.�+� ���B $� i�� 

52� .]AB�� �6�&�� )/6�B  -�]��(�� 
JX+ 89(� '�G06�� �	����  L	 
� ���p  ��=�� � '��2 �����+ )V@��1 

$��(�S� ��d ��.�� � ���1  ...� '��Z N� ���� $2��� �����N (�GD  50�� .�a�  
� �J� �� �2 ��R� /����@ �G6��  

52� ��	 \6 N� ��(��N $��+ ��( )V�+� ($?��E< �� �  ������� /=C� 52� Ve�0� $&�C�M� � 
q�  
� 

}���� 
� ����� � T���%< 
���2��B ��0�� �� ���N ��<��1 N� ��J4 $&�C�M� � lX� ��6�B �52� i2�< ��(�S� 

V	� 5�6�Y )V@��1 ������6� (
� $d�- 
���( ���D 
� �� u@�� L	 /�C	 �52� 
=%� �� /�& /��6 � L�%0< �� ����� 

��(��� ��S� � ��(�6��  ��3M �2 L�RE< ���� ����  � �� ��C< /����@ 
E?�� N� ]�Y n4�B ����1� �����. ��b�D 

L	 �� ��� ��B �6�� N� /����@ � ��R� 5�%B ����- �G� !
q�  
� error )�bB ('����� 52� �'�G06�� 
�K4� ��=�� 

�6~- 52� 
� �bB S�� ��B �� s�d��d � �� }�K<�� �� /����@ � ��R� �G6��  V��@ Q��@ � ��a�� �6~- 52� .� /6� 


C	 i�� � i�� 5J< ���G� »�� «52� .10- ��	 �:�%�� �	 ��@ L	 
� �� �bB � �6 �� }��+ L���0� ��D�� $C� 

����< ��B �� N� n4�B ��M �N�2 .:�%�� 
O�C	 �,���O�  �� 
C	 ��1 � �i6��D N� 
COd�2 �3G< T�� n%b� 

�$�0	 $GE6 '�GG6��  ���3M 52� .� 
T��K& ��P6� ��b�D 
� VKC2 ���kY 52� � 56�3� ��� � $k� $� ��D�� �S�� 

�,��M� ,��W1 � �,��C� '�Pq�	 I��B N� 
b�1 T��@ ��(�6��  ��3M 50�� .��	 $@�%�� 50�� 
� ������ 

��B �� ��b� n%b� N� ��B ��M �N�2. � 
�R� �s�aG6� ���2 ��=D� ����� ��=D� $�A� /$X0%� � $�bG� � 

$2�GD��B .�  5@� '�G06�� 
K1�U� '�D �� )
� /=C� 52� L	 
M��� ���2 '�O� �D�� (
� i%Z L3�� 
� ��& 

w�� ���2 '��C� 52�. ���0�� �	 �$@�%�� /=C� 52� �� �p� T���%< � ����� x�B )$��b�D yA|� (N� �����B ��� 

��O� $4� '�Pq�	 N� �� ��� $C� ��D. ���=6� �(�	 '����� 
b��� ��N�� �� ��- � ���� $��1 ����� $GK� �� 
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“… he exists in a relationship� at least on a primary level of oneness with God.”  
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)Faustion(" :  

“… German magician and astrologer represented in several dramatic works (notably by 

Marlowe and Goethe) as growing dissatisfied with the limited nature of human knowledge and 

consequently selling his soul to the devil in exchange for worldly experience and power … of, 

belonging to, resembling, or befitting faust or faustus: as  a: sacrificing spiritual values for 

material gains, b: insatiably striving for knowledge and mastery, c: constantly troubled and 

tormented by spiritual dissatisfaction or spiritual striving” (Webster’s third new International 

Dictionary� Vol. I, 1971, P.829). 
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THE ISLAMIC FOUNDATION 

3-7 Keythorpe Street, Leicester, LE2 0AL, U.K. 
Telephone: 0533-536354 

Telegram: “Islamfound”, Leicester, United Kingdom. 
Miss Sarah Yazdi, 5227 Contour, Houston, Texas 77035, U.S.A 

Dear Sister Sarah, 

As-salamu Alaykum. 

Thank you very much for your letter of the 18th February. I am glad to know that you are 

working on a paper of the Jamaat Islami in Pakistan. It is unfortunate that very little material is 

available in English; nonetheless, we will try to send to you whatever we have on this topic. We 

are planning to prepare a few things but it will take some time to bring them out. Kindly use 

this material and return this to us as we are making it available to you from our own library. 

Please convey my regards to your father, Dr. Ibrahim Yazdi. It was a pleasure to meet him on 

the occasion of my last visit to the states and I hope he is in god health and the best of spirits. 

With best regards. 

Yours in Islam, k.Ahmad 
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Mischievous claim that Shah is not enlightened monarch 

KUALALUMPUR, Wed. the sole Iranian delegate to the Afro-Asian rural reconstruction 

conference here today dismissed as "mischievous" a claim that his government was not 

enlightened and that a militant student group would form "a free government in exile." 
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Mr. Ebrahim Mahdavi was commenting on a statement by Mr. Faraj Ardalan, director of the 

international affairs commission of the Confederation of Iranian Students. 

Oppressed 

In a statement last week, Mr. ARdalan appealed to Malaysians: "Do admire the shah's wife, 

Farah Dibah's beauty but at the same time please appreciate that we are an oppressed lot." 

He claimed that the Shah "is far from being an enlightened monarch," that little is known 

here of the "suffering" of the Iran people. 

Mr. Mahdavi, farmer Iranian Minister of Agriculture, dismissing the statement as 

mischievous, said: "students will be students everywhere." 

There had to be certain curbs to the freedom of criticism in his country as no democratic 

government could afford complete freedom of expression when there was the danger of 

subversion.  

More trouble 

"These students, who exaggerate and criticize, if they were to succeed in overthrowing the 

government, would only bring more trouble to Iran." He said. 

"Constructive criticism can be helpful but these students are useless. They are just 

destructive." 

Mr. Mahdavi said that his country was sincerely and actively building a better and more 

prosperous life for the people with various economic development programmes. 

He was impressed by what he had seen of Malaysia's development, particularly the rural 

development programme, Mr. Mahdavi said. 

Mr. Mahdavi: … "No democratic government can afford complete freedom of expression." 

'Free Iran Govt' in exile to be set up soon' 

KUALALUMPUR, Wed. a "Free Iran Government" in exile will be formed soon.  

This was revealed today by the director of the international affairs commission of the 

confederation of Iranian Students, Mr. Faraj Ardalan, now attending the Third Asian Regional 

Co-operation seminar at the University of Malaysia here. 

A select committee of exiled students met in New York on Feb. 3 to form the government, he 

said. It has now moved to North Africa. 

Mr. Ardalan declined to name the country. 



 ��� ��� 
 

 

"I am quoting a very reliable source whose letter I have just received and whose identity I 

must not reveal to protect his family now in Iran.  

"the Shah is far from being an enlightened monarch." 

He was surprised that the "suffering of the Iran people is not widely known here." 

He appealed to Malaysians: "Do admire the shah's wife, Farah Dibah's beauty but at same 

time please appreciate that we are an oppressed lot." 

The Iranian delegation to the seminar, which ends on Monday, has presented a 27-page 

report on the situation in Iran. 
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My dear friends  

Here it is Tuesday evening after day, and I must get a letter of to thank you for your hospitality 

This past weekend. The plane reached here Sunday evening, and if ???? that I’ve been ??? ever 



 ��� ��� 
 

 

since. This is the last week of this past of summer school, and there is so much to do. The final 

paper are coming in, and we must have them all nearly by friend. 

However first of all I want to thank you as well as the whole Houston Community for your 

wonderful hospitality. It was ????? get away and meet your family again. I feel now ??? quite 

good friends. And it is ???? to be in the middle of an active community like yours, and to ??? 

the paper it is making. I’m very glad indeed to have this much participating in it.  

When I arrived, my wife had already left the day before for north ??? , and I imagine she has 

arrived safety because otherwise they would have let me know. However a week ???? to-day I 

should join here there all she ???? . ??? now I feel so tried that I don’t know whether I want to 

go or to stay. It should be good though to get away for a little while. 

Here things are going quite well were if they are ????. the ???? continuing and if is warm, 

through not as hot as in Houston and if should be hot in Tunisia. 

One thing I engaged was meeting Dr ??? as ??? the other speakers. It is wonderful to have such 

an opportunity. If you see any of them, and when you go to the ??? please be sure to give my 

greeting to them. I have already writes Dr. Taeri, and ??? should pass them greeting on too. I’m 

not ??? yet whether I want to go to Toledo, but we shall see, and anyhow if many ????? much 

opportunity to meet and talk things ??? meanwhile thanks for everything, especially the 

wonderful Persian Food and tea and say thanks to the boys for letting me have their room. It’s 

cruel to throw them out, ??? I did have a good ??? both nights. Meanwhile all the best to all of 

you.  

Sincerely Tom Irving  
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Dear Jalal 

I received your letter two weeks ago and I sent them immediately to their address. And I was 

waiting for the answers which I can attach my letter too for y ou. 

I think this way is good for saving the time. But about your letter: 
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1) About Hossein: about 2 weeks ago I had a letter from him which he sent it to me from 

Millano. He has written that he has a plan for going to Paris, Frankfourt, London and he wrote 

his address at Frankfurt to me. I answer him immediately and asked him to attach with Zaki by 

Mozaffari or any body else who he knows, before he leaves Europe (because he has written me 

that he wants to come to U.S.), until now I have no answer of him and I don’t know where is he 

now, I wanted to write him again and tell him your message, but I am not sure where he is. 

1. 2) For often friends at home, I got some applictions from the univ. and sent for one of 

them and asked him to fill it ant send it back to me with the pictures, when I receive it, I will 

send you. 

2. 3) About typing my letter, you know I have no type writer and it is difficult to borrow it of 

someone, may I ask you let me to buy one, because we need that. 

My legs are still with pain, and unfortunately no body knows about them, they make me 

suffers and I am afraid about my exam, I wish you be successful in your job. Please tell my hello 

to our friends. You’re sincerely Danesh 
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ZN$�F :4  �b����1964  

Dear Jalal 

I hope you are healthy and successful, last week I sent a letter to you and I think you have 

received it now. Today I received a letter from home (Rahim), he is ok. You know when I was at 

home, I promised him  that we will help them in any way (for the families of the people who are 

in the jail, and person who want to get out, and … I promised them that send them 5000 T per 

month (at least).  

If you remember when I came back I told to Zaki and he told me ok. And in his lst letter he 

wrote me that he sent some, but Rahime wrote me they didn’t receive any thing yet as it was 

too small they need more, he also mentioned that he and Abbass can not come out, it is not 

possible at this time. He has sent us a message by Hossein I don’t know where Hossein is, he 

didn’t answer me yet, perhaps you have some information of him. If you do, please write to me 

and about Rahime's message too. 
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Please write me what are you going to do for them because I have to answer him, I also want 

to ask you write me in general what are your advantage until now? Can we tell then to be 

hopeful or not. 

Again, what did you decide about typewriter, because I don’t agree writing by hand. Yours 

sincerely.  Danesh 
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=� :J9�w� W;��	%  

�FZN$: 20  �b����1964  

Dear Jalal 

I received all your three letters (two for Parvaneh, one for me from Germany) and I sent 

them to Parvaneh and also I talk to her, let me write in Farsi for this subject. 

�HNH\ �_Q  
� �CD 
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��D ��a�� ���N 
� ���6� /6� 
� �������� /� � 52�CD ���6� �CD ���2�� � 
����- ��R��� T��+ .��D�K� 51���� .

L�0	 �CD ���6� � 5����� ��R��� �� .  

But about our friend who you mentioned in your letter, and he doesn’t want to work after 

his study, I only had one letter from him and I do not know where he is, I believe you know, 

please tell him to write me then I can talk to him. 

There were some thing in your letter which I could not understand it well, let me ask you, 

what do you mean with all publications (do you mean all news papers which publish in the U.S. 

or you mean our publication in the U.S.) please write me clearly. 

Thanks for your kindness, I am betters and I got a research job in the univ. I am studying hard 

far final exam, I hope I can pass the exam, please tell my hello to all of my friends.    My best 

wishes for your success. Danesh 

79   



 �	 
��� 
 ��� ���� 

 

131 

 

&� :(�b\ W��z8E�����/15  

=� :J9�w� W;��	%  

ZN$�F :19  =NBE�d1965  

Dear Jalal, 

I received your letter 2 hours ago and I mailed the letters. Since these is late of you. I answer 

you immediately until you can fill out this  )����B�� ( and send back as soon as you can. 

Dear, I asked you some questions in my previous letters and I don’t know what is your 

answer, because I couldn't find the answers. Then I repreat them again. And please answer to 

all my question in positive as negative, but not with out the answer. 

The question.  

1. Rahim asked about money. 

2. RAhim sent a message for you by Hossein, did you receive it? 

3. I asked, may I make them see about future? 

4. Rahim asked me about his future toward, how come? 

5. Ardakanian wants to refund your money? 

6. is Hossein with you or not? May I have his address and to have a correspond with him or 

not? If yes please send his address to me.  

Please write date in your letter.  

About publication I will asked the friends and  after receive them I will mail for you.  

'Please tell my hello to all of our friends and accept my greeting.  I wish you success Danesh. 

Mr Ali Ardal… wants to pay back your money. How he can pay. Please write me. 

1 .��2�X� ��� n6�Y N� �� L�1� 
��� .2 .��� ���- /zCb� ��2� �6�� L�G� $� ���=< � L6� 
�D��� ��- 
� uM�� .3 .

 �50�d '�G6  N� �CD ��RG�4 .�� �� �R� L�1� '�G6  T���0� 
� uM��L��0	 �� �R�G� � /D .5 . �� ��- ���������

 �AM ���  �< ���� 
P�6 .52� T���0� ��1 �� ��d ����� �� �2��  52�-��� �� �� ��6� �� /�01 /� .  
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ZN$�F :1  =N$B�1965  

Dear Danesh: I 

I received your letter dated Jan.19.65. I hope you will well and every thing is o.k. 

Concerning your questions: 

1. 1- Would you please send Rahime’s letters through Box 50? In Bern. You have that 

address. 

2. 2- About money I wrote you before and explained that we paid a lot of money to the man 

which you gave me his name and address but they have not received that sum of money and I 

do not have any other safe way to send any more. Of course in many occasion I have send some 

small sum of money for them. Please ask them in special way if they have received that money 

or not. 

3. 3- About his trip, our opinion is clear and still we are waiting and hoping to see him. 

4. 4- Mr Arda… can hold Galal's money until he comes there.  

5. 5- I have seen Housin. He is touring in Europe and I do not have any address of him. For 

the time being he may be in England. If you have any address of one of his friends you can get 

in touch with him. 

6. 6-I hope every thing is satisfactory in your studying. 

Good luck . zaki 
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Dear Jalal 

I got your letter from Paris, I wish you had a good time in your trip and everything is all right 

far you. And news are: 

1-ISA convention – Hassan didn’t run, Tehranian & Dr Parsa ran.Tehranian won with small 

margin. Resolution and messages of the convention will be sent laterr. Daneshjoo is published 

under our independent editorial board. Hasasan and Kalantatri are on the board, so the 

editorial is in Berkley, if you have any articles sent it to us. 2-convention decided Hassan, Dr. 
Passa and Tehranian as representatives to the confederation (CIS). 3-convention decided a 5 

members committee for defense of students. They are Hassan (west), M.seyrafizadeh, Ds. 

Mahdavi (Boston), Banouazizi (N.Y) and another person (Midwest). 4- N.F. convention held 

from 31 Aug. to Sep. 2 in Chicago. 25 representatives participated. More lovely and interesting 

than the last one. A representative of N.F. Exile (N.F.E) suggested to the convention the 

unification of both N.F.A Committee of three men elected for negotiation with N.F.E. They are 

Hassibi, Beyranvand and anorthers person. The council has 15 members as before. The central 

committee has 5 members instead of 6 as last year. They are Hassan – Ali- Kowsary – 

Davarpanah – Kalantary T all in Berkely. The executive committee is in Chicago and has 3 

members.  kowsari and Davarpanah have cooperated with N.F. whole heartedly. There is no 

worry about them. The resolution and messages of N.F. convention and the results  of 

negotiation of unity committee will be sent later. What kind of help can N.F. give you? Please 

advice. 5-Hassan sent letter to Nasser. Copies to newspapers.  6- we are translating the 

Guevara’s book for publication by N.F.    7- if you have any information why Khosro changed his 

mind and didn’t go to the Daneshkah to register please write. He is in Berekly.  8-   Send us any 

publication that you may have. 9- News in at Home: a)  According  to news papers 13 

communisis's were arrested, Khalili Maleki  Is one  of them. No other name. 

- b) two people  Attemted to sabotage the bridges  in the north and they were arrested, the 

government says they are Tudehi. c) The 25th anniversary of Shah's coronation is being 

celebrated. 

10.  we watched on Sunday  Sep. 19 on C.B.C T.V a  half an  hour  Program (10;30 - 11;00 

a.m) it was about the U.S. special forces training Iranians  in Iran for  counter insurgency 

activities. It was very informative. May he you should get hold of the film and see it  1. You had 

tow friendly letters  from Kamal.  

With our wishes for you and friends. Durant 
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��� ���� �� 

��06�G�. '����� �6�2 f4�b�: 1 - ��U�� N� 
��� $��C4  /6� ��� 
� ��d N� I��B N� /Y� ���� /� '���2�� '�D ��� 

n��b� ��CE� �� �  N� ]�Y �CD L�0��� � 
� /Y� ����2��. 2- 
��� 
� Mercy Mr. L�D�� $4� �CD �$ ����� ���1 

$K4�b� 
� ��D $� `�b� ��� ���0� ���J� 52� � /� L��� $C� ��� �� '����� `����� i���� $<��a< �� 
N��] 

�S�d L06�G� .�CD $�06�� ���� f0� �R� �� �6 ���P6� N� 
%�2� ��P6� '��X�2� ��G�. 3 - ���� ��2�� �N��4 �� $>+ 

=E���+ 5KJ+ ���� � f�<�< �� �  L	��B ��� � ��d ��=�� ��2��  
�Q��  $%E� �CD � ���(��� ��a�  
�
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'�PO��� ���� 5B���- 
��?� $6�3� ��M� 5D��� ���@ �D y�C���0� 
� '�PO��� 29 ��2�� ��D .���2 /� /6� �52 


� �6  J	��� $�06�� �� �  V6�J< ���P� � /�C	 ��� $�06�� ��� :��G+ 
�D�� ��D �6 ��� ��	Q. 4- �KB `����� 

i���� $<��a< �� 
N��] ���� �� �KB 50���B L6������ ���< �� 5����� �D��. 5 - T�6�O� $4�2�� �CD �� T�6�O� 

�����B ��d �	��B �D � y��E� '����� ��� �3�  � ����E< 
� ��d '��� L6� ���6��� L	��B 5D��) .��� �N>p 

^��& – ��p� ��3X� �O�( 6- ���� uCM ���  ��- ���@ �D  
��6�2 ���2�� L�06�G� � �����B 
d�	 L����< $� 

\C� L�G� �6�D �� 
��� L����� ����� \C� �aG6� �� L06�G�. 7 - ��- 
����- ��G��< t%K� 100 �.� 5��6�� '��� – 

'�G�2�� 
�D�� 
� N�� L	 �	��B ���2��.  8 - ��d N� T.�UJ�  Oliver
� Spain � �� $<��+ 
� N�� L	 ���v< $� 

��G�  
��a� )��U�� Q��  (� 
d �$0� ��UJ� ����� � ��6�3D �  '��2� $4� �6�D ��B �CD L	 �� ��1 

�?�1 
�D�� ��D�� �  
�/�C	 V�4� ����2�X�. 9 - 5D���� T����P%< 
� Black Smith N�G	 �� ����B� /� 
�D�~( 

'�O� �	 5@� ��2� L	��B ���2��. 10 – s��M $%& '����� 
CM�< ��C	 52� 
� �� 
��� )2 (L�D�� $� �6�( 

5@� �����. 11 - i2�< $BCN�F ��k�- �CD �� 
� sNBN� ����2�� – s��M �� 
��� ��E� 12- T���0� ��	Q 

i2�< JC\ 
� Dwight 
�X( '�D � ��d ��CM yyAK@ �6�(  
�'�����B ��- 
����- L	 
�X( '��� .$��0� 
� $GX%< 

���1� ��CM �� '��2�- ��� �3�  �X(�G 
�  
��-��� �
��� N� ��KB� �aG6�: �� 
�X	 
�D~( T������� ��6�M �� CHERY 

PIE� VC& 
� ��  
� $=6 N� ����� SALAD 
� 52�6� s����� �D � ��3d �X� N� ���2�� �� �� �	vT 
0�e� 7 ���X� 


�K4� �.��2� ��%6�< /6� ��� 
� �� � $%&  �� �6�aG ���<�\ N�� �'��� ��� – 4� $/� n���� �� �.��2� �� ��L�0 � 

�6/ �����5 �� �� ���
a  cE? �����B L��� $� .��d �(� C	�$PG	 /�� ��C< Janson ��M� $� 5D�� 
� �� �Gd 

'�� VK@ BORNA � 
� �� 	X
� VK@ L	 $P4�- 'N�< �� �� �aG6� s����� $� ���D. ��	Q ��	K� �S6S& $� ����� 
� 

��kO� T���J��� L�0	 � �������� L4�2 N� �3�  ��~P� .�A2 ��� 
� 
C	 ���2�� ����2�� .5����� � 5�A2 �CD �� 

�N�  ����. ����@ �CD  �E��  

M.Danesh, C/o Box   97, Berkeley 4, Calif, U.S.A                                                                           

Mr. Dr.Talieh, c/o Mr. Ali Akbar Maktabi, Rue Georges Picot, pposite Starco, Beirut, Lebanon   
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=� :�z8E�����(�b\ W�  

ZN$�F :9/12/1965  

�A2 N� �E� $���( � S6S& ����� � 52��    $4�E< 
C0� . 
���)3 (2/12 ���� 5��6�� N���� �� �CD . �KB N�

��D ��GD�B ���0� �CD $��A2 � 5����� . L��B � �� ��1 ��=O�� ���� \6 �CD ��	 5KJ� ��3h� N��	 
q� �  L	

 $� ��U�� � ��KE� ��2 
� 5��1 � 
X�h� ��a�� ,A< �� �� $(��N � L6��~( $� �� ��B �=D �50��B

L����~( .�D�� 
� 
� �%�� � �	��B �� 
� ��6 �< .< u@�� �� ��C� 
 ��%6�< 
� uM��O=��� �	��B �-��� �� '�PG� V� .

5D�� �G	��B 5KJ+ L	 �� y�C�1 .��P��� 
� �6  $� �� �6 �� !�50�d ,� 
�����   ���6� ���� �50�d ,� 
O��

 ��B Q��  ��6�C� c@�< �a�  �� $<�� ���� �6�D 
� $G�E� VJ� 
� ���� �J� 
� 52� ��3� �� 
 �a�  �� ��C�

�	�� �KB $�0- �6 $���P%< �6��� �-��� �� 
� ���� Q��  
� ��%6�< ��� /�C	 
� 
 �� . �� �6���� �� ���� Q��  �(�

�6N �6  $� �6N �� 
� $K�<�< ��C	 
� � �D�� 5�C2� �6 $%& �CJ� L2� 
� �6�� ]��P%< �6 
��� ���G& L06�� $� .  

 
Mercy  52� '���2�� 5C=1 
��B���� Q��  
� �� ���� 
 ��� ��6���� $%�%B ���� ��6�P�)TS& $6�� .(

�( ��2�� f<�� �6�C� $� S6�a< �� '�� /6� �(� � �G� 5��6�� ������ . � �	 l=& � 
 $G�CB nb� 
�0� ���J�

52� '��� �� N� ��K��2� ��6�M .G� �� 
� y�GC?G6� ��d 
� l6��G�0	 ��O( I��B �� Q�C< ��� �� ���! �6�� ��d �B  �

�GG� /��E< ��E�0� Q��  �Gd L6� '��� 52��B�� ��� �	 '� ��G2�� �� 52� 
� ��P6� ��	�M N� �� ��KB��  '��=�

���  !����2�� ���2�� �6�2 � �CD rAY� 
� 
� �� 
�2��B �� N� � �� '���2�� f4�b� ��6���� ��jD ��� . 
 �  ���J�

 �6 T�@A� ��6�MBlack Smith 52� . ��(�G6�C�Foundation, BASS  $6�	 5KJ+ � ����� �� 
� �� 
6�	 � 
���

��� '��� .�� '���2�� ��jD ���� �� �3�  .Cb� �� 
%�2� �(� 
� ��KB ���� /zMercy  ]�Y N� ���B 
��(� '��Bass 

 T�&� 
� o���&� �� �� 
���Colton ��D $� '���2�� �CD ���� 5D���� 
� 52� '�D 
�D�� ����j2� 
�  . N� �� 
���

 /�C	 ]�Y����  ��P6�0C	 N� �P6� $=6 
� o���&� �������j2 K0� 
�X( Q�SP< 
� }���� � n1 �� 
� $K4�b� 
� 5

��D $� '���2�� ��jD � 5����� ���� 
� 52� '�D 
�D�� ��� .52� '��� 
�D�� ��%6�< 
� $K4�b� ��C	 ���1 ��� 

��O� u6�2 ���@� ���� /6� �� 
� 50�� f2�G� $� . �� �N��4 ��2�� 
� uM�� L��� $C�Ashby  �� �6� '��� 5KJ+ 
�

�b��C	 L2�< $� 
d ���B �6 �6� '��� u%b� �U�� N� �� 52� 
��� �-��� 
� �� 
� 52� 
�X( 
C	 
� /X%< �� 
� �

��06�G� �< m?�� y�Xb4 ��G� ���� $(��2 
� �� f%b� S�� ���2�� 
��� 
� uM�� .'����( 
� uM�� ��� : L2� 
� >	��
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 JF��: �6��� 
� Q��  ��C	 
�)9 -2 .(L6��� '��� �� L2� /�C	 L	 yAK@ . '�G�2��100 �� 
�D�G� �� �.� N� ��6�

�6��� ��2�� ����j2� ��	 Q��  ���� � ��C� ���� 
��C� ���� �6��� ��d 
� $4�2�� T�6�O� . 
� '��N n6�+

 ��K� ��3X�s  ��C	Bass 52� .�+�=� L	 �� �� $� ����� $� ���� . � ��CM �� �=6��  �� 
� 52� $6�	��(�D N�

��2�GD $� �� �� L	 �CD � ��� Q�C< �� ��C� . Q�G3�52� ��C�B�2 � '�� . T.�UJ� 
� uM��Olimer  yAK@

��d � $��0� 
d ���� L6� 
�D�� .���D �KB�� ��N�� T�M���1� � ��N�� u?� N� �3�  
� 52� �  ��6�M �� ��UG� . $�

52� w�J< ��& �&�� ��B �K@� 5��O�- � ��N�� ��W�@� N� ��KB .���2�X� �� 
�D�� 
� $6�	 Q��  ���� . � �����

L6���� �� ��6�3D . 
�Edgar  ��a�� �6�� �G� $� ��K@ �� ���� 5�4�z0� $0� $�@� � ��������( 
C	 
� ��6���X�

�	�� . 
� $%Z��dDwight  
�X( �a� �� �� �U�� � 52� '��� 
d �%�4� �52� 
�X( �� ��CM T���0� ��6�M

 ���� �� �CD �R� �� �52�cherry pie L����� L�0	 .� 
� $�06�� �3�  $��2� y�Xb4 ���d 
� ����  ��O� �a�  ���2�

��06�G� �� .( ��6�M :�Y� ��� $��� �  '��CD 52� 
��Room 4146  52� . ��B L2� 
�»��� $�� « $C2� �	 �6

52� $��� ��� �	��B s��M �� /X%< . ��C� ���� 
�$G� 
K<�=� $���< $� N�� L	 $%E� Q��  ��C	 . ��� Q��  
�

( ��	 �P6�52�X� $K%b� 
�� . 
�Mercy  ��M�C& ]�Y N� � 52� '��� T�@A� FG	�� �6N� �� 5���< 
� l6�G�

 � 52� '��� �� \C� r�� 
C	 '�&� � ��@ FG	�� �6N� 52� '��� 5KJ+ VUX� �� �� � 52� '��� �� 
� �� 
���

52� $?�� � ��JD�B ���0� ��B ���6� N� 5���< .C& 
� 5K0� S�� FG	�� �6N� ����� cb4 ���0� ��M� . /�GqC	

L�0	 �CD ��KB� �R�G� ���d ����� �� N� $���M �6 � �KB N�G	 ��� 52� 
�D�� /6�4���� ���� �� 
��� .5����@ . ����

52� '�D f<�� 52��- T��+ 
� 5����� ��O�� 5&�2 .��D�� �  
��� �R�G� .  

Mr. Smith, c/o Mr. Nouri, 6507 Frigothcim/ch, Postfach 142, W.G. 
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 ��� ��� 
 

 

$���� �HNH\ ��	Q 
��� T� �� �Gd 
��@� VK@ 5��6�� ���� � N� �KB 5���A2 ��JD�B ��D .�������� 


O�C	 5�A2 � n��� $D�� .
��� $%UX� ���� ��C� ����2��. y�C�1 �< ���J �� ��6�M �  ���@ 
���( �� 5%& ��Bv< 

s��M /� ���� T���0� $BCN�F ��� 
� �� �a�  m�?�< '��� '�D. 1- 
��� ��	 �CD �� ���� Ashby ����2�� � ���@ 

52� 
� :��G+ �	 �� 
�X	 �P6� ���6��� ��2�� ���� ����P� ��D�K�. 2- ��C	' /6� 
��� T��� ���� �R� �CD �� $� 

L�2�� � �=� LG� $� ��0��  
�u@�� ������� �� �  ��2�� �6���. 3 - T�6�R� �� '����� 
K1�U� �� �@  
� ���@ �6N 52�: 

  ~��- 0�v
4 ��50� ���@ /���( �� ����B� �@  �< 
d 'N���� m�J+ �52� �6  \����< �6 ]��E< � �6 5���1 .�6  

/6� ��@ N� ]�Y bass The '��� '�D �6 N� ]�Y YAHYA .� - \d�� � $� 5�C	� o�� ���� Dogders The 

N� ]�Y �@  � 
=G6� ��O6� �=� $� �GG� �� ��XZ� �  � 5EM��� � r��D ��a��  /=C� �	��B ���  
��R� �� 52�� 

50�� $�06�� ��O6� 5K0�  
��  /D�� ���D.   - 
����� '�G6  ��O6� ���� �� ��3X� �O� ��d ��	 $G�2 N� �   
�

���� ������. �- �� i6��D �?�1 
%C1 ��O6� 
� ��6�0�& � ��36 
� �R� ���  ���� N� \C� $4�C�1� �����- ��6�� 
� 

c4��� $6�(��N 54�� ��	 ��S� �G�0	 ���J� �	��B ���. '- ��d ��O6� �� 5KJ+ ��O6�	 N� Ve�0� N�� 

5KJ+ ����=�. �- 
CM�< 5KJ+ ��	 ��O6�  
�5%& 
%C1 
� ��6�� N� �R� �� ��X� 50��. 4 -  
��R� �� ��X� �	��B 

��� 
� bass The '����� =�CK ;��E�>E& J���� �R���3h� � 5K0�  
�5D���2 �3�  ��3h� 
@A& �G�. 5- /�4�� 

sE��9*K <�:$B2K JN���� – JN�?N��� – <�IN��� ��F] N�� ��2 
6���� 1966 �� �E���: – ��BK 

V�=O< �	��B �D � N� ���6� i�� Radish �6 Salad  T�&� '�D 52�. ������ ��d 
��� �CD $2��� ��� /� L	 

$2��� L�D�� �(� �N. 52�  
�$0�%P�� �D�� L6��� ��06�G� .�A2 �� ��  
�
C	 ������� ����2�� .$�2�� 5D���� 
��� 

�� ���6���  
�
C�C? ����2��. 5����@ �E��  
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��	K �HNH\ � >*	Q$� $���� �< 
� �������� �  5����� 53M �� �	��� � ��D�� 5�A2 '�����B ����� 
C	

����� ��- . N� 
��� �� 
�D~( '�� ����	Q  $2��� 
� 
��� /�D�� /� ���� � VUX� �3�  s��M ��d 
� L�D��
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CD ���� �� s��M 50	 �< 51���N�2 u%b� �3�  N� �� ��CM y�Xb4 �< L�2�� $� � .1 -  '���� 
� }���� T���

Y���� '���� 
� /�E� ���N �� �� �� T�M�3�
  ����2-  
� ��%6�< 
��� ��E�m�� $B�	Q s�a$):��& ( �K��2� �B��� ��

P�0� �  ��|=< � �D ��2�� 
���N�� 
2 � '�PO��� l�e� ���� �� �  5D���� � �D ��2������ �CD ��B �R� 
� $ .

��� '���2�X� ��d �� ���� .3 -  '�������BK $� ^$�f =� sE��9*K  
� ��� ��X� �� �R� 
�Bass )���N  5W3� ( ��

M �� � ��� $� 5��D � � � 5��( $� ���@ �  ��6�
�D�� ��M� 
� ��� $� $��E� �� ,��B 
=G6� x�U� .

 N� '�O� ��6v< N�G	 
� $&AY� nKYRadish '��� '�D T�&� �  �� .L6���� �  '����� ��P6� rAY� N�G	 �� .4- 

 �� ��q�6 ���� '�� �� 52� ���@ ���� 5KJ+ 
����- ��- �� � ��2� �	 :��G+ ��2�� N� �E� ��q�6 ���� ��CM 
���

�E� $�O�� ��D ��2�� .�D ��a�� f�<�< /6� 
� ��6�M �	 :��G+ ��� /�D�� '����� . ��- 
� �N�� �� 
����-

 /�� �� mK+ 
� ��� ���@ ��K� �a�  
� �� �	 
�0� �< ��� 
�D�~( ���@ $��jC�9 -8 ��� :�X<� 
� �� Q��  /� � L6

�E� �< � L06�G� 
� �D �&�� ���� ��G� 
�0� ���� 
����- ��- ������( $4� ���(�� L�D�� ��J��� 
� �3hN�

 � L06�G� �� �	 Q��  y�C���0� L�0����� L��J��� 5%& 
� L	 /� � ��D ��C< �3�  ��� �3hN��E� \6 5&�2 \6�S�

�G06�G� ��D��B �< ���� 
����- ��- 
� �� Q��  V��� ,��X2 N� �E� . �� �R� ��2�� ��jD i2�< 
� ���KB� '�����

��� '�D :1 -  �� ���=C	Julius )$e��O@ ��0B ( 
M�< ���� �CD �D�� 
q��Gd � 52� ���X� ���0� ��� �� �R� 
�

52� $(�S� ��@ ���O� �GC@A& � �GD  $<A�=O< � LRG� ��� �� �3�  � �2�� 
a��� 
� $��G�� ��+� 
� �3�  ���� .

� N� ��3� �CD ��B� �GD  � ��6N ����� ����� L	 
� $DN���- '�( 
�=< /�Gd /�D�� 
� ����� $� � 
 u�2� 
�bG� \6

�D�� ��X� ����< $� 'N���� 
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Bern 1. Poste restante 
Dear Mr. Fahmy, 

I hope the life is treating you well and you are successful in your research work.  

On Wed, 4
th

 Aug. I went to see the professor of the college and told him about my intentions 

to continue my studies in Switzerland, especially in Bern. I told him that my previous supervisor 

is supposed to have sent a recommendation about me. But he said he had not received it yet. I 

am going to see him again on Monday 9th. Aug.  In order to obtain a permanent visa I have to 

register in a college or a language institution and get an acceptance form and then return to 

Germany to acquire the visa from Swiss consulate. In addition to the acceptance form I must 

produce an evidence showing that I have enough financial support to live in Switzerland 

without trouble. At the moment I have about 200 Fr and have written to my uncle in Germany 

to send me some money before I receive my money from my father and find a job to support 

myself. If I have to go to Germany to obtain the visa I'll see him before he leaves for Paris.   If 

you happened to see my supervisor at the university would you please tell him to send a 

recommendation concerning me as soon as possible.   At the moment I am staying in a room 

which I've rented for a month. It's not very good but I've got rid of hotel expenses. I receive my 

letters through Bern 1 Poste restante in my own name. Now I'm trying to find a good German 

class, and if possible a job. But because I don't speak German well I have some trouble here.  

Hussein has given me his technical tables and data which are very useful and I'll use them in the 

future. I hope to hear you soon to see how you are getting on with your studies. Please 

remember me to your wife and children. Your sincerely.  

Ahmad 
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Dear Mr. Fahmy 

On Tuesday 11th I phoned to the college again. The professor said he had received my 

previous supervisor's recommendation concerning my study in Switzerland. I met his assistant, 

and after some discussion about my educational background and technical experience he 

promised to consider the matter and fix me up with college as soon as I have learned the 

language.   At present I have a trouble with my visa. I have already registered in a language 

school, but the police don't consider this as an acceptable reason for my stay in this country.  

Now I am trying to register for a language course in the university, but it does not start until 

mid-October. This means that I may have to go to Germany and wait there for two months and 

then apply for a visa to study in Switzerland. I try to avoid this, because it would cost me some 

money, but I don’t know how much I can succeed.  It is also difficult to find a job here to keep 

me busy before starting my university course.   I hope that you are making a good progress in 

your research work and wish you a remarkable success.   Please give my regards to all friends. I 

hope to hear from you soon.     Your sincerely,   Ahmad Harati 
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=� :��:���� W<�HN  

ZN$�F :9  �b��BE1965  

Dear Mr. Fahimi  
Many thanks for your letter of the 3

rd
 Nov. which was received yesterday.  

Last night I phoned to Mr. Nuri to ask if he knew Mr. Jaber's address at the moment, but he 

said he didn't. Now I'm sending the letter to Paris, hoping that he will receive it there. Mr. 

Hussein is expected to phone me this afternoon. He may know Mr. Jaber's present address.   

You had not written the address of your friend in America so that I can send him the letter.  Our 

student's advisory has agreed that my passport be renewed for 6 months. Now I have sent it to 

our consulate.   I have decided to go to Switzerland for studying because the admission to swiss 

universities is much easier than to German universities. But the cost of living is higher and I 

don’t receive money from home these days. So I may work here for a while before starting my 

university studies and save same money.   I hope that you are very well and successful in your 

studies. I am looking forward to hearing from you soon. Your sincerely.  Fazel 

p.s. All the Pakistani friends send you their warmest regards. 
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5- Reza Moghadam ,  International monetary Fund,  Wash. D.C., U.S.A 
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ZN$�F :5  DN$��1973  

To Mr. Georges Habib 

ATLAS Travel Agency 

Dear sir,  

I have received all your correspondences, and in previous replies, I have explained carefully 

the matter. In short, we payed once the travel expenses. But unfortunately, some 

miscalculation or misunderstanding has happened.  Anyway, I understand you are in trouble 

financially and really, I don’t want you loose anything in the case. Therefore, I accept to loss in 

my side and send you 212.50 dollars requested. I hope you forgive me for all this confusion, and 

I wish you the best of success.  Truly yours.  Ahmed Harati  
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��S6 ���� s�GM $���( ���2 ��W1  $4�CD ��G�4���� �3D 
� $��A2 
� ���� �S6� ���6 �� �A2 o�& N� l-

L6��2�.  ���1 
� $4�B �CD ��M25 L��D�� $(�G��� 5&�2 .���� c6�O< L��B 
� �D c�1 $%�B ���� ����

K� ��( yA+� '�� �� ��d�D o�& 
� ���b��C	 ��1 �	 
� ��  ��< �CD ���waiting list  y�C�1 �6�� 
+AB � 5��

�6����� c6�O<. �B $%�B 
� LG� �=O< ����� '��� 52�� L��B 
� $q6����2 N� 5�� ���6��� 'SCD . /� ��@ N�

��� ��C< 
�����2�� �A2 o�& �	 $COd .����1� �� .- t%K� 
� \d 52��40 52� 
C�C? �.� .  

303  

&� : J?F>	A� WJIE��)�����/(12  

=� :W<�HN  ��:����  

ZN$�F :18 �b��8m� 1972   

��B s�B ��(�G� ��C< 
� � �CD �� �A2 ��S6 ���� s�GM .L��	��B �� �CD 5�����.  

$�bO� :1 -  ��@ $�[E =8�� >	A�  ��@  �����JE�?��P –  ����B '�S��- �� yAK@ 
� :��1 '�=O��� ��aO���

� ��=J� � ��� '�D ��P�2� 
 ���1 '����� ��� '�D ��N  VK@ $<�� � ��� ����N ��2 ��5  V�4� ��	 ���� VK@ '��

� 54�� N�� �	 � '�D ��P�2� 
��D $� ��%E� ���� �X�%=< 
� �	� $� ��@ ,� '�����B .2 - � ��-  � ����

 ���	��B�C\;�N���& �@� ���( ��� ��� '��� ��N  �� ,�	��B ��� 
��- $4 
P� �a� 50�� ��%E� �� �� ���� � 

��� 
�D�� .3- � 
 �������< �KB 
� 52� '�D $j���� ��3�� 
���N�� 
��� 
C�C?JN�@$ �B���  52� f4�M 52�

 
���N�� �P6� 
� T� '��O� iB �� ,�6N 
� 52� �K���j2 ��2 
� }���� 
�-  ��@  �6�( $� u���� V���


�D�� �� ����� ���2�� �U@ $6�?� . ��=�- N� 52� 
RJ4 /6�B  �< $6�?� ��1�� 
� ��D $� ��%E� �aG6� N�

��� '��X�2� 5+�� N� ����N �� $�1 ��� 5��p ��B ��C6� �� � 
�D�����'  
aG=D ����� 
� �� ����� 
�2��B $� �

�G� 
XB '���- �� ��P6� f%b� �P6�  N� '�(��� l�e� �a=6 �� i�� ��� '��X�2� ��O�� ��O� 
� ��K� ���� /6�

  
� �2�- $� $6�?� ��1��6� �� �� '��� $(���06� /6����� V���� !$� $6�?� ��1��  �� �6 ����N �� �6�(



 ��� ��� 
 

 

 �����B - �� ����N �� �6�( $� l�e�
� �	� $� s��M $6�?� ��1  - ���E2 ,�& $e�?� - ���� �� �� ��B �C� � �N�

�	� n���< .���G& �� $�E6�D ���� N� '�SM ������ ��D $� ��~�� 
C<�B �� ��2� L6��� �6N ��	 :  

1- T��3D  N�� �� $���G�29   ��D�� �� ���D�&2-  ��X+ 
E�D � ��%& 
E�D3-  �� L�G� r��D �a� N�

 ��3��6�  '�PO���4- ���� 
E�D 5�4�z0� .Q�� y�GC? � �	6 ��D�� �� $2 �� 
�X	  ���� 
� �	� $� N� L	 ������

 ��G� ���� �� '�SM /�GqC	 52� '��2� �3� =	P�� =	P��  $� 5��6�� ���3< N� T�&�Kb� �CD ��6� ��d ����

 ���0� /C� y��E� �CD 
� L�2�X� ���6��� ��G� 
�3< �����< $C� � ����� �(� LG� \d �CD �� ��� L�X( ���B 
� ���G�

�@  ��d �6��� �� 
N��J�C  ���0� �  
E4�b� N� l- L�2�X� ��O6� ���� /� 
���� '�D �G� � ��� �GC@A& L	

 L�2�X� ��6���X� 52� �N. �(� ��1�3� �������  �A�� �A2 o�& ������J� L��B 5��B LC��B � /� ��@ N� 
C<�B

��6���� . 5����@�����  
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ZN$�F :15/10/1972   

� �CD w��K� '�� �� �������� L��	��B �� �CD 5����� L=�%& �A2 ��S6 ���� s�GM  N� ��� ������J� '�����B

��D�� n��� ��- .�KB : ��@ Ja�bP�bP J`��$  '�PO��� ��aO��� �6��3�   ��� '�D 
�O� w���2 
aG=D �6N

)$G� '�=O��� :�� Q�G3� ��O6� ����� L2�GD $C� �� ��� /6� ��B $4� L2�GD $� �� �� /� 
� 52� ( ��P6� �KB

 
� '��� /6� ��� 
�D�� 
�<��BQ <��: (>*�� )���3< $G� '�=O��� :�� Q�G3� ( ��<>*K ;�>��  �p� ��

$��E� �
� �6 '��� ���RG� �6  � V�4� 
d 
� L��� $C� $4� 52� '�D 
�O� V�K��<� 
p��1:  

1- ��@  ��	K<&��O  Q�� ��kO� ��� ���3< $����< ��%& l��0�4 :�� ��%& ���2���� V�UJ�4� ����

 �� �����BUniversity of Southern California  ��sC)E� s� �� ����� N� 52�52� $���� � ��C6� . ��� V6��

 ]�Y N� 
�PSG �G� 5��6�� f4�b� .2- �@  �<>�`� �@$>	A�  ���3< ��%& '�=O��� $C�D V�UJ�4� ����

 �����~( ��kO�PH.D.  ��
�B%���� ^�[2E�� Amherst ���D �W& 52� �GC@A& L	 ��O6� 52� . ��@ 



 �	 
��� 
 ��� ���� 

 

575 

 

 cb4 �< n�@� �� s��� Q��  � L2� ��6���X� cb4 �(� LG� ���- L�0����� �6��� '����� 
� $���� �� /6� /� ����

�B ��GC� $%�B $%�B ��6���X��D L	� .����� $?�& '�G� .���� �A2 L��B 5��B .����� 5����@. 
q� Q��  �	   

 L.A. Calif. 9007:Mr.kharazi , 1150w30 th st. 

M.R.,Saidi, 135 Prince Hall ,U.M., Amherst , Mass 01002 
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ZN$�F :20/11/1972  

 ����  s�GM T���� o�& � �A2 y�Xb4 L=�%& �A2 ��S6=E�&�� ��6���� �A�� L��B 5��B �� .y]�� -  ���� ��

�	 
� L06�G� �CD ��B ��G� $=d L���( L�CU< \d ��G� ��M� ����� $� `A+ 
d .2- s�01 ���� ��acct no. 

37109 \��� ���� ��� �B  .52� 
d 
� }���� �C3X� ����< $� $=��� �	 
� 52� x�U�� s�01 s�01 /6� .

4- ��KB� ���� �� : 
� ��P� 
�0� � ���X� �CJ� � $%��<3  �5  �3  �4 ��� '�D ��=J� ��2 . ��O���� 
�K4�d �G

L�0�� /zCb� ��2 . ��@�� $4�3  �5  �3  �4 ( � '�D 
�D�� 
� 52� ��2 \d�� L2� �6�Ja�bP�bP J`��$  V�%B

 �D�� $�)�C6� �� 
�K4� � LD�� '��C3� �� /� �6�D ��� 
�D�� /� ���� '��D� ( �� 
� ��b��C	 
=G6� �P6� 
%z0�>:�)� 

 ���X� �6��� 
�D�� �6�M '��CD ��3<� 
� ��<�:�P D8f  �=d�� L2� 
�K4� ��� 
���(<>�9� J9�w�  � 52�

 ����N yAK@ �6�(���D $����2 'N�k� \6 �� '����� /� �E� � '�� ��� 
�X( � '��  $0� 
� '���B $� �~Z $���

����� . '��  
� /�C	�����  ,�G���( ��� 
��6�–  $� L	 '�P�2� ��B �G6�( $� $4� '��� ���@� L	 ,��B �6�(

�� 
� ���� 
� ���� ��O� $3�G� 
�O=� �� ���� � L��0	 ��@  /6� L��B���� ��( �� $%XY52� 
�B���� 5C1N 
� . 
%z0�

 �P6�;�N���& �@��C\ 52� s��B $%�B �E?� ��� '��� �%��G� ����X�� ��%2 
� 52� . 
���N�� ���� ��- 

 ���1 
E�� \6 /� �S6S&20  �630  '�� /�� �� �6�D L��� $C� ���� 50- '��� 
GPG� �� 
���N�� �<('�D L  . �	 
�

��� ���� 52�� $%�B ��1 L6��� 'N�< 
� ���� �6�M 
���N�� \6 i�� ��� �
� �6 ��� '��2� �CD 52� 
� �3�  L�

��O� L( $=6 /6� �������� LG� $� 50- 
��� 
C�C? 56��� 
���� '���2�� . $�E6�D ��	 5D�� � TAa� ���� ��



 ��� ��� 
 

 

 - � ���� 
E�D 5�4�z0� � ��%& 
E�D � ��X+ 
E�D � L�G� r��D �a� N� �T��3D '�SM  ... ����J�C�� 
N� 

 N� L�2�� $� ���6��� y�C�1 5O(�� T��+ �� 
� ��6���X� �6��� �N. �(� 52� '���2�X� l- N�G	 
� �� '���2��

LK%Y $� ,N�- iB ��� . �� 
��N�� �A2 �������� ��G� T��6N �� ��<S6S& ���� � ��- ������� �<��N 
d �	 ��������

 ��D 5��B�A�� ��e�C� .���f����� 
E  
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ZN$�F:  2 �b����1972                                                          

 ��S6 ���� s�GM  ��B ��G� �A2 . �=O< $0� /� 
CM�< ��K@ �� �CD 5KJ� � cb4 N� ��2� N��6� �CD 
���

���� . ���S6S& n��� /�D�� \K2 �� ���@ /� LG� $��E� y�GC?)���� '���2�� L6��� �� ,� 
CM�< 
� (L�0�� n���� .

�< ��� 
�KD ��O�� $���B 
?�� � $���BSM� 
� ���@ /� �R� 
� �� $2��� � n��J< \6 
� ���( 
a��� � 
����b

f%b� �B  �� $Eb@ . �� $�A� L6� 
�X( $	 � L6��� $���BSM� 52�	 ��@ ���1 �� 52� T��6 y�C�1 ��1 �	 
�

��%- � 52� 52� .V�4� ���� .�(� 
� �D $� r��D ��bG6� L	 
��� �  .�1   ��K@ �� �A� � �A� 50���< $� �=6��

�G� ��K@ L	 �� $%�D 50���< $� �G� �6  $� 52�� f�<�< /6�� ��3� 
a��� �6�D 
� $4�1 ��  $2��� ��  ��� 
�

� 5��=1 � $2������ ��K@ 
� �?�1 �=6��  �6�P� �E� �	� ��a�� �� $6�	 \2��& /�D�� ��	��B � 50�� $%

��Z  �	��O� �� 54�� ��� 
�52� $@��� . $<�1A+� 
d L�G�K� �D I��B 
� ��d N� �������� ��1 �	 
� �6�D '�D

� LG� m�JU< �� ���B ��D n��� LD�� 
�D�� ���3� 
a��� $<  �� .2-  N�� �S6S& ����� 
�D�� 
� 
CM�< ���� ��

s��� LD�� 
�D�� 
��� �CD N� 
=G6� N� VK@  ��� 
� �	An cook book ��2� L�2��  ��@  '�G�2�� 
���	K  N� � ���

H[F (�� ���� �=� /� ���2�	 N� 
� $4� ��� ��1 �	 
� LG� �=O< ,N� L�2��B $4� 52� �����B �N��B ��C

L�2�X� � LG� 
�3< �� /6� 
CM�< ���� LG� $� $E2 L	 /� � $�D�� L6��� ��N 
� ��GC� $%� . s��M �D �(� y�GC?

�
� �6 ���� $<�&AY� L	 �N��B ��C� 
� $GE� /6�� 52� ��P6� �6 52� ��C	 ��C� /6� �6  
� '�� 3-  /6� 
6�b�

�� ���� ���P�� V32 
� �O�K� ��� ��B /� �&� L�2�X� 56��� 
��� ���6 $	 /�. 4-  
%a�Nation  �� 
4���'���  

� �6 ���� �N. �6  L�2�X� 56��� ���� $� 
CM�< L�D�� /� ��� f4�M y��K0� 
� 5D��yAE �P6� ���� /6� ��  l�



 �	 
��� 
 ��� ���� 

 

577 

 

�� ,�KB 52� � ��	 
� $	��B $C� �(� '�� /� 
������ $?�& �( .� 5C��B � �CD 5��B  �A2 o�& �	 
q�

L��0	 �(�&� � L6��� .@ 5���������  
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ZN$�F :a�d �1973  

��B ��G�     \d /6� $GX%< T����~� ���- �A2 �S6S& �����205  ��1�� 
� }���� 
� �� ��.� J��\

~p� �2�� $� ��L . �6�( ��M 5� �3�  ���� �� yA|� 
� '���� ��1�� /6� N� Q�K4 ������ $�2��700  L	 ��.�

 
� '�� 5D����6 \6 y�Xb4 �6��� �(� �6��� �� �	 Q�K4 /6� '��X�2� ��=�� �6���  Q�C< ����N �� 
� �CD  �6  50	

$	�� �� L���M ��N 
� ��D $� ��GC� L�2�X� 56��� .���� �� �P6�Rerot. Com   /6� ��4�<�� N� 
=< /6�

 
JX+  L�2�� $� �� 5��D36  
� 
�D��34  �.�save �2� ��C< 
� ��G�6 ���� ,��X2 ��� � ���� �� 
Y���� V

�2� /6�6 �6 ��4�<�� �� VMannual y.�CE� 5X( $� ��C���� $4� 52� 
C�C? L	 � Mannual   $K�& \6 �	

�2� ��C< �4� 
� �����6���� �� V  �G� $C� ��� L	 N�� $G� L	�2 �)���� 
6���2 \%� (! $� �� ��1 �	 
�

5X(Mannual   \6 �� ��set �2�6B �(� 
� ��	� ,��X2  V��� �6��P� ��6 L	 ��<��B ���2��Mannual   '�P�

��G�K� �� '�P�2� � ��G� .��D u@�� �CD ��G� '�3� ���� �������� L�2�� $� �� /6� /� ��1 �	 
� .C?���� T��6 y�G 

$�2�X� f4�b� ���@ ��� �G� �� 
0%M 53M. �< �Gd ��� 
����� \6 ��6S6�%< �� $�2��  �� � �@ ����� 
�X( $%�e��2�

L��D�� �	 $%�e��2� �� . 
� �6  $� ���6 /� y�GC? � ��� '��� $��0� 
d $1� ��K<�� 
� �6��� $�6��< w��� �CD

\6 ��  �	 f<�� N� $=6 �G�X( $� �M�� �KCk�- 
� ���� 
�D�� $Z���  ���� $&AY� �(� ��1 �	 
� �'��� ����� ��

����� $?�& �P6� yAE� 52�X� /� ���� . 5@�U<�����  
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ZN$�F :1973  

��S6 ���� s�GM �GD�� L4�2 �	 
q� � L��B � V���� 
C	 � �D�� s�B 54�1 �������� L=�%& �A2 . �A2

L6��� 
C	 5��B .
4��� /6� 
CM�< �D �6� 
� �6~j� ��� $	��B�~& . � /� /�� ��� '�D �J� ]�+ �C3� 5C0@

 S�d 
d 
%CM /6� L6��P� L�CU< 
� �	 u@�� $WE� ��� V=O� y�E@�� 
� TACM �2 
��N���6�( $� �� . ��1 �	 
�

 ��K� �� ���� �� '��2 
4���–  ��� ��1 �	 
� 
� �6 ����� �CD ���� �6 � L6� '��� n��� 'N���� 
d �< L��� $C� yAE�

���� 52� �SK2 ��D u@�� ��K@ ���� 52� .s��� ���� ��  /� �6��� '�N 5�A& �6N �� �6��� '����� 
� �	


%a�school and society ( ��
%a� 52� ���B���� �S�d L�2�� $� �CD ���� �� '��� $j���� 
� L��� 

Jewish part met  s��� �5D��� 
������� ��The significance of Religious …..literature 
JX+ �� 
�247 

��� V=O� 
+AB � 5D�� �ED $%�B ���C3X� �S�d yA+� L���( �� '�D '��K���. � � L���( �� �P6� s��� 
4��

Religion and the Search for Next Ideal  L��� $C� .�1 ��� 
4��� /6� 
�KD $%�B �K4�b� y�K6��< 
� L���( ��

 
G��N VK@ ��d � LG� $� ���@� ,� 
�3< �� ��6���X� ��	���� 
� $<��+ �� 
� �
� �6 ��	��B $� L	 �� �  
CM�<

L	� s��M �<��N �������� ���� $%K@ .�bO� ���$ : ������ N� yAE� 
� $��� $���3$� ��� '��� �RG��+ ]�@�� 
� . nKY

 ��KB<$�>	8`N�3  ��	 
����� ��� 
�X( $4� '�D 52�� � 52� '��� ���@� L@ ��3  � �6����� �6�� �� �<�%M '��

T�@�� o.k. 50�� ��KB � 52� V�bE< L	 �	 
����� yAE� 
� �G� .�0�  �A2� ga1 � �A&� ��C%&  L3@�G&� H�

 �� �� �G06�� $� ����� $������3$�  N� 
� ��� 
�D�� ��C���� ��@ 
� �E� �]  
C%� 52� $�E6�D s��� ��� 
�

�I�B�� � ;�	|\ � �	\  �@  
� ��CW� /6�� ��� '��� �� ��J*� /6� N� �E� 
�D�� L���� 
+AB � 52�  
C	

/6� N�G	 �����B Q��  
� L�C3X� L��2���� ��@'��  �� �=���� � ��C|& � �C& 
C%� 
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